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(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1
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D xt -yt @ x*-y°
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® x*—4x?y? +y*
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(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac
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@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
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@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca
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(xy + y2)(yz + 2x)(zx + xy) =

xy +yz +zx = 1& ©|-gsto] HYsIH

(xy + yz)(yz + zx)(zx + xy)

= (1-2zx)(1-xy)(1-yz)

=1 - (xy+ yz + zx) + (FPyz + 9%z + x92%) — (xy2)?
=1-(xy+yz+zx)+xyz(x +y+2) — (xyz)?
=1-142-4-4
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(x—a)(x=b)(x—-c)
=x3—(a+b+c)x®+ (ab + bc + ca)x — abc
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@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°
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(a+b)"=A, (a-b)"=B
(£41) = (A 4+ 2AB + B?) — (A% - 2AB + B?)
=4AB
=4{(a+b)(a-0b)}"
=4x2"
:2n+2
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2+a)=a, 2-a"=pREOHW
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=(a+p)*-(a-p)* =4aB

42+ a)"(2-a)" = 4(4 - a®)"

=4(4-3)"=4
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10, (4+3)(42 4 32)(4* + 3%)(4% + 38) = o] 5HA?

@ 48+38 @ 415_315 @ 415+315
@416 _ 316 @ 416 + 316
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(4 + 3)(42 4 32)(4* 4 31)(4® + 38)

= (4-3)(4+3)(4% + 3%)(4* + 3%)(4% + 38)
= (42 — 32)(42 + 3%)(4* + 3%)(4% + 3%)

= (4* - 3%)(4* + 3%)(4% + 38)

= (4% - 3%)(4° + 3°)

— 416 _ 316
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O a3 +p? @ ab + b (@)aﬁ—bﬁ
@ a° 4+ b° ® -0




